Efficiency vs dr

0.5

0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15

Ratio

0.9
0.8

0.7
107

_ "I |||;||m
| [li

.......

— DQMStep3 OCD_CKF
—e— DQMstep3_QCD_default
—— DQMstep3_QCD_ defaultNEWT

i

1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |

5 L2
&
o il
<
8
2 08
(&}
c
o)
o
£ 06f
()
0.4
0.2
o
I
o
0.8
0.6F ARRRIED (BRI k|
1073 1072 107t
AR(TP, jet)
[Efficiency vs pu ]
S5 0.1
N
20095— ------------------------------------------------
?008;— ------------------------------------------------
50.07E -+
® 0.06F -
0.05F
0.04F
O B SISISIINE T I O
0.02F
OO RS SITR SRS LSS RS
o Opppehesss oo L b L b
5 i nesstd bt
@ F
0.9 - f-H4--H FH 4 Wbl - HH e -
081620 3o 405060 7080

Pileup



	Contents
	Page 1


